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QUESTION 1

How does Cisco ACI manage the STP BPDUs between two pods?

A. Cisco ACI spines perform ingress replication for STP BPDUs

B. Cisco ACI spines suppress STP BPDUs to be forwarded to other pods

C. BPDUs are forwarded over IPN using the bridge domain GIPo multicast address
D. Special multicast group 239.255.255.255 is used to forward STP BPDUs

Correct Answer: C

QUESTION 2

An engineer configures a new Cisco ACI Multi-Site Orchestrator node to join an MSO cluster. Which two components
are necessary to ensure that the new node has IP connectivity in this configuration? (Choose two.)

A. Cisco ACI spine interfaces that are connected to ISN

B. Cisco APICs over the OOB management network

C. existing Cisco ACI Multi-Site Orchestrator node

D. management IP of ESXi hosts where the controllers are deployed
E. OOB interface of ISN

Correct Answer: BC

Reference: https://www.cisco.com/c/en/us/solutions/collateral/data-center-virtualization/application-centric-
infrastructure/white-paper-c11-739609.html

QUESTION 3

What are two characteristics of Cisco ACI interaction with MSTP? (Choose two.)

A. A Cisco ACI leaf flushes all local endpoints in the received EPG when an MSTP TCN frame is received.

B. A static path binding is required for native VLAN to carry the MST BPDUSs in existing EPGs.

C. Mis-cabling protocol is used to snoop the MSTP TCN packets.

D. A dedicated EPG must be created for the native VLAN ID with static bindings toward the MSTP-enabled switches.
E. The PVST simulation must be configured on external network switches to support MSTP.

Correct Answer: CD
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QUESTION 4
DRAG DROP

Drag and drop the tenant implementation designs from the left onto the outcomes of the design when a greenfield Cisco
ACI fabric is deployed on the right.

Select and Place:

Answer Area

VRF configured in common tenant; BDs and
EPGs configured in dedicated tenants.

One organization without RBAC requirements
owns all of the configuration.

VRF and BDs configured in common tenant;
EPGs configured in user tenants.

Different organizations can have overlapping
subnets.

2 Organizations use different tenants and
VRF, BD, and EPﬁ :::ti.'igured in common Shars 1ho <aiho SUbnok

Each organization has access only to

VRF, BD, and EPG configured in user
dedicated resources, tied into RBAC rules.

tenants.

Correct Answer:

Answer Area

VRF, BD, and EPG configured in user
tenants.

VRF, BD, and EPG configured in common
tenant.

VRF configured in common tenant; BDs and
EPGs configured in dedicated tenants.

VRF and BDs configured in common tenant;
EPGs configured in user tenants.
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QUESTION 5

Which feature should be disabled on a bridge domain when a default gateway for endpoints is on an external device
instead of a Cisco ACI bridge domain SVI?

A. unicast routing

B. ARP flooding

C. unknown unicast flooding
D. proxy ARP

Correct Answer: C
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